RIGOUR

< MNU 3-11a

Outcome 1 -
Millimetres = Centimetres = Metres

Change the following units of measurement...

0-8 cm =? mm 0-06 m=?cm

. &

e 0003m=?mm & 04m=?cm
5 0-07 m=? mm 8 2mm=?cm
Z Obecm=?m _a 800 mm=?m
& 009cm=>m JO 5mm=2?m

Homework 5

Silver Level
Outcome 2 - Area of a Triangle

Calculate the following areas...
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Outcome 3 - Millilitres = Cubic Centimetres = Litres

Change the following units of measurement...

& 04cm*=2>ml & 0006I=2ml

0031=?2cm®> & 08Il=?ml
& 000071=?2cm® & 006ml=?cm?
Z 9ml=2] 8 50m®=2I
S 600ml=2| Ja 02cm’®=?|

Outcome 4 - Volume of a Triangular Prism
Calculate the following volumes...
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Area = 25 m Area = 17 cm?
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10 mm 3 mm

30 mm 12 mm

11 mm
Area = 12 mm?
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